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1. 00 FortranOOOOODODOOOODO......

FORTRAN is well suited to numerical computations, C is suitable for system pro-
gramming tasks. A combination of the two languages in one program should have
been the best solution for some programs.

— USER NOTES ON FORTRAN PROGRAMMING (UNEFP)
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y = a*x*x2 + bxxx*x2 + C ! usual

y =a * X ¥ 2 + b *x x xx 2 + c ! I prefer

a(i), a(i, 3j), a(it+l) or a(i + 1), a(i+l, 3j+1)

s(1:6), s((i+1l):(i+6))

* Blank characters and blank lines should be used freely in
Fortran programs. This improves readability.

* Blanks should be placed before and after the percent sign
in structure component references. This is not required,
but it improves readability.

—-—— Fortran 90 programming tips by Walt Brainerd
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8. SAVE' 0000000000000 DO0O00 DLLOO “save” 0000000 OOOOODO gobogo

000000000000 000000000000 M nood
Antony ] Mee, “Mistakes in Fortran 90 Programs That Might Surprise You” 0000 00O
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select case (wrong) select case (good) if (1 == good) then
case (1) case (1)
else 1f (
case default case default else
! relax
end select end select end if
10 000000000 OD0OOO0O0OO0OO000DO000000000000000000 oOoooo

! Convert pressure P in unit U into Pc in MPa
function find_pressure_in_MPa (P, U) result (Pc)
UO00000o PO MPaOOOODOOODODO PcODOO
function find_P_MPa (P, U) result (Pc)
MPaOOOOOOOOOOOOO inO0O0OoOoooog
function P_MPa (P, U) result (Pc)
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Energy = mass * (speed_of_light *x 2)
0000000000 FortranOO E = m * (c ** 2)
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13. Rob Pike, “Notes on Programming in C”, 1989 0 00O ooo0
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14. 00000000000000000 “Static Analyser” DO 000 oooo
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